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(1Y 7E)
o & B HEGR)  HEG% ZE & @ (%) THH
1 X ] &t 381,135 28.2 1 22,183, 350 21.2 58
2 | J v — 7 231, 580 17.2 2 14,532, 053 17.8 63
3 | h - F* — H 169, 312 126 3 8,321,329 10.2 49
4 b ] 139, 760 10.4 6 4,696, 545 5.8 34
5 Y A E 3 82,410 6.1 7 3,781,035 4.6 46
6 = e 96, 391 4.2 5 5,981, 346 1.3 106
1 AN z & 44, 221 3.3 8 3,162,374 3.9 12
8 ] & & 40, 645 3.0 4 6, 540, 534 8.0 161
9 z % & 24,7198 1.8 9 2,680, 850 3.3 108
10 Jx=v VR (B) 15, 300 1.1 14 295, 155 0.4 19
nmi 7 — AR P4 13, 600 1.0 15 266, 805 0.3 20
12 1 b v 9,513 0.7 12 381, 428 0.5 40
13 | ( % ) 9,029 0.7, 10 1,751, 495 2.1 194
1“4 7 3 2+ 3 R 5,900 0.4 13 377,160 0.5 64
15 | » El H o H 5,450 0.4 1 837,210 1.0 154
16 | 4 ( #& ) & 3,985 0.3 16 184, 433 0.2 46
17y 7 v (%) 3,730 0.3 17 150, 308 0.2 40
8% 3 v (%) 3,910 0.3 24 99, 168 0.1 17
19 | R - F — A 2,100 0.2 18 132,195 0.2 63
20 | 7 A 3 — 1,990 0.1 19 118, 598 0.1 60
21 | & T L - 1,510 0.1 26 31,028 0.0 21
2 | 7 rvARY1—L4A 1,112 0.1 20 106, 239 0.1 96
23 | 5 ) 7 888 0.1 23 62, 034 0.1 70
24 Fo &Y (%) 180 0.1 21 65, 153 0.1 84
25 | R + Y 7 420 0.0 29 11,288 0.0 27
26 X b+~ L F 7 395 0.0 22 63,578 0.1 161
21 | h =z — 394 0.0 25 34, 367 0.0 87
28 T =L 5 (#) 250 0.0/ 28 13, 545 0.0 94
29 1 —Hh Y (&) 165 0.0 27 16, 485 0.0 100
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o & B HEG)  HE D & @ (%) FHBE
30 FroR—Ta (%) 90 0.0 32 1,890 0.0 21
3N | B B 85 0.0 30 6, 458 0.0 16
2 w7 ( & ) 40 0.0 31 4,200 0.0 105
3B T H LT () 10 0.0/ 33 315 0.0 32
Tt o ¥ Y 7 01,927 3.8 1 2,868,878 3.5 25
2 = o fowm Y E 38, 669 2.9 2 1,074, 491 1.3 28
3 T o MY & 9,068 0.7 3 121, 335 0.9 80

] Y it & 1,350,222 100.0 81,526,709 | 100.0 60

(854)

o % H HEGH RO ZE & @ (%) FHH
1 R Ty (#%) 369 8.4 5 36, 540 1.4 99
2 3 v ( %) & 352 8.0 1 1,849,103 68.9 5,253
3 £ ( #® ) 293 6.7 3 83,318 3.1 284
4 DOSA (8) 284 6.5 6 33, 600 1.3 118
o ASraxT (8) 213 6.2) 2 86, 111 3.2 315
6 3224 (8) 82 1.9 7 12,537 0.5 153
AN ( &% ) 60 1.4 9 2,520 0.1 42
8 T ~ v ( #&%) 22 0.5 11 2,310 0.1 105
9 7 FF R (#%) 20 0.5 4 o1, 240 1.9 2,562
10 4 F & ( &%) 12 0.3 10 2,520 0.1 210
1 ARy T47452 (8 6 0.1 8 10, 080 0.4 1,680
T £ o fit & B 2,605 99.5| 1 514,721 19.2 198

73 % & 4,378 100.0 2,684,598 | 100.0 613

(20t

o % B HECK/8/E) HEO ZH 2 @ (%) T
1 £t ®= & 1,065 93.0 2 75,023 11.2 70
2 K 2 (8 ) 180 9.0 1 88, 232 13.1 490
3 v &2 (8] ) & o6 2.8 6 1,644 1.1 137
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o % H WECK/8/E) RO IR & HE(%) TR
4 3 L (8 ) & 8 0.4 4 42,105 6.3 5, 263
9 r « #& ) 8 0.4 3 90, 400 1.5 6,300
6 St F (#8) 4 0.2) 5 23,100 3.4 5 TI5
T ¥ ¥ (8] ) & 1 0.0 7 4,200 0.6 4,200
1 TOMBREDY 687 34.2] 1 381, 024 96. 7 905

z o f & 2,009 100.0 671,727 100.0 334

e TEEHNEHEH 20135 9A % ~ 20135 9A % 3



